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# H LA ez RIS el 1R
lEE 357 TEI0L 0 0 0
1. BEFHIRA 0 0 0
(1) BEEIRA 0 0 0
FSEEERA 750,000 750,000 0
(2) EZEIRA 0 0 0
B ERENFRF EFIRA 3,400,000 3,200,000 200,000
BEIE BT FHFEIRA 2,100,000 2,100,000 0
BE=HRERFEFEIRA 22,000,000 23,000,000 -1,000,000
IR EALBRRFEFIA 10,000,000 10,500,000 -500,000
EFEFIEFERRA 22,000,000 22,000,000 0
SEESTHIA 8,700,000 8,700,000 0
(3) #IXA 0 0 0
SEFRIRA 3,000 5,000 -2,000
LA 1,100,000 1,100,000 0
EEFHNAG 70,053,000 71,355,000 —1,302,000
2. SEFEIRH 0 0 0
() EXEXH 0 0 0
HwHAFAXE 30,200,000 33,200,000 -3,000,000
ERE T H 0 14,066,000 -14,066,000
EERMEX 5,600,000 6,100,000 -500,000
BAELEEXH 350,000 350,000 0
HERSEEHLEESTE 3,300,000 2,700,000 600,000
T Hlip A E X H 450,000 450,000 0
BHEXE 100,000 100,000 0
SEEXH 30,000 30,000 0
REXBEXH 50,000 50,000 0
BIEEREXH 550,000 550,000 0
HEGSREREXE 100,000 100,000 0
HESEXH 240,000 240,000 0
BREEXZE 580,000 1,080,000 -500,000
RIS ARE X 800,000 800,000 0
FHEXEE 100,000 100,000 0
HEREXH 160,000 80,000 80,000
SEEHEXH 1,900,000 1,500,000 400,000
EERXE 1,000,000 1,000,000 0
‘“E—ﬁ R 220,000 220,000 0
AHRAETH 5,840,000 6,840,000 -1,000,000
BHEERH 420,000 420,000 0
X H 200,000 200,000 0
2 EHEXH 0 0 0
5% B BN 2 3,840,000 3,840,000 0
HwHAFAE 5,800,000 5,600,000 200,000
EERMEX 900,000 900,000 0
B EAEXTH 50,000 50,000 0
SEEXH 270,000 270,000 0
REXBEXH 350,000 350,000 0
BIEERE 100,000 100,000 0
HESEXH 60,000 60,000 0
BREXEN 220,000 220,000 0
SFHEES-S3 50,000 50,000 0
HlREXH 40,000 20,000 20,000
SEEHETH 600,000 600,000 0




EERXE 400,000 400,000 0
HElexd 550,000 550,000 0
HR AR 60,000 60,000 0
X H 100,000 100,000 0
4) FntZH 0 0 0
FEABCERBRUVSEXER 600,000 600,000 0
SEFEIXHET 66,180,000 83,946,000 -17,766,000
SEFEINZERE 3,873,000 -12,591,000 16,464,000

# H LY v B zg e Ra =
I BREZTENZOL 0 0 0
1. JFEFHRA 0 0 0
() BEEERNAIA 0 0 0
BEBA T 5 2 E EEE A 0 12,711,000 —12,711,000
B&FEEIRAR 0 12,711,000 —12,711,000
2. BEFEIZH 0 0 0
() FEEERSXH 0 0 0
EREAs S EERS X H 1,243,000 3,002,000 —1,759,000
BREZSXZHE 1,243,000 3,002,000 —1,759,000
BEZBNZE=R —1,243,000 9,709,000 -10,952,000
Il 5= BRZ DEp 0 0 0
1. MBESRA 0 0 0
B 5% m e AR 0 0 0
2. B ASZHE 0 0 0
[T 3T b 0 0 0
MEEBIINEZESE 0 0 0
N FEiExH 0 0 0
LHUNT EZE 2,630,000 -2,882,000 5,512,000
B =5 185,810,749 188,692,749 —2.882,000
RNz =5 188,440,749 185,810,749 2,630,000




